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Sutapa Chakraborty

Rudyard Kipling honoured motherhood with these words: "God could not be everywhere and, therefore. he
made mothers.” This 18 similar to what Sarada Devi, reffered to as Holy Mother by her diseiples, would say
quoting her husband, Ramakrishana Paramhansa: "He had the attitude of a mother towards all creations and he
has left me behind to demonstrate this motherhood of God." That, she said. was her purpose in life.

A mother's role 15 multifaceted. She is also her child's first teacher. And Sarada Devi fully imbibed and
imparted the philosophy of 'Vigyan Vedanta', demonstrating how all those teachings could be applied to make
our own lives blessed.

In her own way. she taught "as many faiths, so many paths". Brahmn, according to her, was in all things and in
all ereatures. Though the realised souls have imparted different teachings, and they don't say the same thing,
however. since there are many paths leading to the same goal, all of their teachings are true. She gave a unique
analogy for this. Imagine a tree with birds of different colours and plumage sitting and singing a wide variety
of notes in varying octaves, We do not say that any one particular bird's chirp is the chirp. and the rest are not,
She would say that founders of all religions are realised souls and they have witnessed diffferent aspects of
God on the basis of their own experience. and they are all correct as they have indeed known the truth. They
are wrong in generalising it. though. Actually, they are only referring to different forms and aspects of one and
the same infinite. divine reality.

Demonstrating harmony of religions in her day-to-day life and a mother's unconditional love for all. Sri Ma
would say that the Muslim labourer called Amjad working for her was as much her son ag was Sarat. Swami
Saradananda. her personal attendant. When Sister Nivedita, Swami Vivekananda's disciple. came to visit her.
Ma Sarada embraced and accepted her as her own daughter. She maintained that the infinite divine reality is
nirgun formless, in one aspect. and also sagun. with form. Once, when asked by a monk, "Are you really the
mother of all? Even the birds, insects and beasts?" She said. "Yes". At her home m Jayrambati, West Bengal,
when a monk once hit a cat, the Holy Mother was deeply hurt and said, "Don't beat it. Feed it, so it will not
steal food. I live in that cat."

Pray for desirelessness. was her advice. If one can entirely give up all wordly desires. they can get a vision of
God right away. she believed. Her final and most profound teaching was that if you want peace of mind, do
not find faults with others. Rather. learn to see your own faults. "Learn to accept the whole world as yvour own.
No one is a stranger, my child." she would say.

Sub questions

Question Number : 1 Question Id : 6863408498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"God could not be every where and. therefore he made mother” who said this.

1. Sarada Devi

-2

. Ramakrishna Paramahansa
3. Rudyard Kipling

4. Sutapa Chakraborty

Options :
68634033601. 1
68634033602. 2



68634033603. 3
68634033604. 4

Question Number : 2 Question Id : 6863408499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Vigyan Vedanta' philosophy could be applied to make our own lives blessed. Sarada Dev: fully nnbibed and
imparted this philosophy.

Here imbibed means

1. Kill ideas or Knowledge

| S}

. Literary absorb (ideas or knowledge)

hat

. Drink (alcohol)
4. Abzorb water

Options :

68634033605. 1
68634033606. 2
68634033607. 3
68634033608. 4

Question Number : 3 Question Id : 6863408500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dufferent aspects of God means:

A. Different nature of God
B. Different character of God
C. Different feature of God
D. Dlfferent identity of God

Choose the most appropriate answer:

1.A. B only

| ]

CA.B.C.Donly

faa

.A.B. C only

4.D only

Options :

68634033609. 1
68634033610. 2
68634033611. 3
68634033612. 4

Question Number : 4 Question Id : 6863408501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
"Plumage" means:

1. A singing bird

[ )

. A bird of unique colour
3. A bird's feathers collectively
4. Number of birds chirping together

Options :

68634033613. 1
68634033614. 2
68634033615. 3
68634033616. 4

Question Number : 5 Question Id : 6863408502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who were described as Sr1 Ma Sarada Devi's children in the passage. The list must include all the names
described:

—

. Amjad. Sarat. Swami Vivekananda

| )

. Sarat. Swami Vivekananda
3. Nivedita, Amjad. Sarat
4. Nivedita. Swanu Saradananda. Amjad, Sarat

Options :

68634033617. 1
68634033618. 2
68634033619. 3
68634033620. 4

Question Id : 6863408497 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Sutapa Chakraborty

Rudyard Kipling honoured motherhood with these words: "God could not be everywhere and, therefore. he
made mothers.” This 18 similar to what Sarada Devi, reffered to as Holy Mother by her diseiples, would say
quoting her husband, Ramakrishana Paramhansa: "He had the attitude of a mother towards all creations and he
has left me behind to demonstrate this motherhood of God." That, she said. was her purpose in life.

A mother's role 15 multifaceted. She is also her child's first teacher. And Sarada Devi fully imbibed and
imparted the philosophy of 'Vigyan Vedanta', demonstrating how all those teachings could be applied to make
our own lives blessed.

In her own way. she taught "as many faiths, so many paths". Brahmn, according to her, was in all things and in
all ereatures. Though the realised souls have imparted different teachings, and they don't say the same thing,
however. since there are many paths leading to the same goal, all of their teachings are true. She gave a unique
analogy for this. Imagine a tree with birds of different colours and plumage sitting and singing a wide variety
of notes in varying octaves, We do not say that any one particular bird's chirp is the chirp. and the rest are not,
She would say that founders of all religions are realised souls and they have witnessed diffferent aspects of
God on the basis of their own experience. and they are all correct as they have indeed known the truth. They
are wrong in generalising it. though. Actually, they are only referring to different forms and aspects of one and
the same infinite. divine reality.

Demonstrating harmony of religions in her day-to-day life and a mother's unconditional love for all. Sri Ma
would say that the Muslim labourer called Amjad working for her was as much her son ag was Sarat. Swami
Saradananda. her personal attendant. When Sister Nivedita, Swami Vivekananda's disciple. came to visit her.
Ma Sarada embraced and accepted her as her own daughter. She maintained that the infinite divine reality is
nirgun formless, in one aspect. and also sagun. with form. Once, when asked by a monk, "Are you really the
mother of all? Even the birds, insects and beasts?" She said. "Yes". At her home m Jayrambati, West Bengal,
when a monk once hit a cat, the Holy Mother was deeply hurt and said, "Don't beat it. Feed it, so it will not
steal food. I live in that cat."

Pray for desirelessness. was her advice. If one can entirely give up all wordly desires. they can get a vision of
God right away. she believed. Her final and most profound teaching was that if you want peace of mind, do
not find faults with others. Rather. learn to see your own faults. "Learn to accept the whole world as yvour own.
No one is a stranger, my child." she would say.

Sub questions

Question Number : 1 Question Id : 6863408498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"God could not be every where and. therefore he made mother” who said this.

1. Sarada Devi

-2

. Ramakrishna Paramahansa
3. Rudyard Kipling

4. Sutapa Chakraborty

Options :
68634033601. 1
68634033602. 2



68634033603. 3
68634033604. 4

Question Number : 2 Question Id : 6863408499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Vigyan Vedanta' philosophy could be applied to make our own lives blessed. Sarada Dev: fully nnbibed and
imparted this philosophy.

Here imbibed means

1. Kill ideas or Knowledge

| S}

. Literary absorb (ideas or knowledge)

hat

. Drink (alcohol)
4. Abzorb water

Options :

68634033605. 1
68634033606. 2
68634033607. 3
68634033608. 4

Question Number : 3 Question Id : 6863408500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dufferent aspects of God means:

A. Different nature of God
B. Different character of God
C. Different feature of God
D. Dlfferent identity of God

Choose the most appropriate answer:

1.A. B only

| ]

CA.B.C.Donly

faa

.A.B. C only

4.D only

Options :

68634033609. 1
68634033610. 2
68634033611. 3
68634033612. 4

Question Number : 4 Question Id : 6863408501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
"Plumage" means:

1. A singing bird

[ )

. A bird of unique colour
3. A bird's feathers collectively
4. Number of birds chirping together

Options :

68634033613. 1
68634033614. 2
68634033615. 3
68634033616. 4

Question Number : 5 Question Id : 6863408502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who were described as Sri Ma Sarada Devi's children in the passage. The list must include all the names
described:

—

. Amjad. Sarat. Swami Vivekananda

| )

. Sarat. Swami Vivekananda
3. Nivedita. Amyjad. Sarat
4. Nivedita. Swami Saradananda. Amjad, Sarat

Options :

68634033617. 1
68634033618. 2
68634033619. 3
68634033620. 4

Sub-Section Number : 2
Sub-Section Id : 686340270
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863408503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Out of the following options select the word that 1s correctly spelt:

1. CONVELESENSE

|

. CONVALASENCE
3. CONVALESENSE

4, CONVALESCENCE

Options :

68634033621. 1
68634033622. 2
68634033623. 3
68634033624. 4

Question Number : 6 Question Id : 6863408503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Out of the following options select the word that 1s correctly spelt:

1. CONVELESENSE

[ ]

. CONVALASENCE
3. CONVALESENSE

4. CONVALESCENCE

Options :

68634033621. 1
68634033622. 2
68634033623. 3
68634033624. 4

Question Number : 7 Question Id : 6863408504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Despite the family's insistence that she should get married. She has set her face against the idea. The
underlined idiom implies that:

1. She got out of the difficulty on her own.

| B

. She opposed the idea with determination.

LN ]

. She pitched herself against her parents.
4. She refused to confront and convince her parents

Options :
68634033625. 1



68634033626. 2
68634033627. 3
68634033628. 4

Question Number : 7 Question Id : 6863408504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Despite the family's insistence that she should get married. She has set her face against the idea. The
underlined idiom implies that:

1. She got out of the difficulty on her own.

|

. She opposed the idea with determination.

. She pitched herself against her parents.

LN ]

4. She refused to confront and convince her parents

Options :

68634033625. 1
68634033626. 2
68634033627. 3
68634033628. 4

Question Number : 8 Question Id : 6863408505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose a synonym of the underlined word.

Rohit's lugubrious eulogy at the funeral of his dog eventually made everyone start gigling.

1. morass

2. Sonorant

3. meloncholy
4. somber

Options :

68634033629. 1
68634033630. 2
68634033631. 3
68634033632. 4

Question Number : 8 Question Id : 6863408505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose a synonym of the underlined word.

Rohit's lugubrious eulogy at the funeral of his dog eventually made everyone start gigling.

1. morass

2. Sonorant

L& ¥ ]

. meloncholy
4. somber

Options :

68634033629. 1
68634033630. 2
68634033631. 3
68634033632. 4

Question Number : 9 Question Id : 6863408506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose a word opposite to the meaning of the underlined word.

History is replete with deeds of cruel and capricious kings.

1. erratic
2. steady
3. acquise
4. humble

Options :

68634033633. 1
68634033634. 2
68634033635. 3
68634033636. 4

Question Number : 9 Question Id : 6863408506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose a word opposite to the meanmg of the underlined word.

History is replete with deeds of cruel and capricious kings.

1. erratic

| B

. steady
3. acquise
4. humble

Options :

68634033633. 1
68634033634. 2
68634033635. 3
68634033636. 4

Question Number : 10 Question Id : 6863408507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A severe deserved punishment
1. Reformation
2. Retribution
3. Revisionism

4, Retreat

Options :

68634033637. 1
68634033638. 2
68634033639. 3
68634033640. 4

Question Number : 10 Question Id : 6863408507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A severe deserved punishment

1. Reformation

| ]

. Retribution

3. Revisionism

ahaa

. Betreat

Options :
68634033637. 1



68634033638. 2
68634033639. 3
68634033640. 4

Question Number : 11 Question Id : 6863408508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of money doubles itself on simple interest in 10 years. Find the rate of interest per annum.

1.10%

J
et

2
I

4. 8%

Options :

68634033641. 1
68634033642. 2
68634033643. 3
68634033644. 4

Question Number : 11 Question Id : 6863408508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of money doubles itself on simple interest in 10 years. Find the rate of interest per annum.

1.10%

J
et

2
I

4. 8%

Options :

68634033641. 1
68634033642. 2
68634033643. 3
68634033644. 4

Question Number : 12 Question Id : 6863408509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An athlete takes as much time m running 200 m as a car takes in covering 500m. The distance covered by the
athlete during the time the car covers 2 km 1s :

1. 500 m

| ]

. 600 m

. 750 m

L N]

4. 800 m

Options :

68634033645. 1
68634033646. 2
68634033647. 3
68634033648. 4

Question Number : 12 Question Id : 6863408509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An athlete takes as much time in running 200 m as a car takes in covering 500m. The distance covered by the
athlete during the time the car covers 2 km 15 :

1. 500 m

[ B

. 600 m

. 750 m

L]

4, 800 m

Options :

68634033645. 1
68634033646. 2
68634033647. 3
68634033648. 4

Question Number : 13 Question Id : 6863408510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If cot® 45° — sin® 457 = K sin? 30° x tan® 45° x sec” 45, then the value of K is

1.0

| )
[y

3. 15
4.2

Options :



68634033649. 1
68634033650. 2
68634033651. 3
68634033652. 4

Question Number : 13 Question Id : 6863408510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cot® 45° — sin® 45° = K sin? 30° x tan® 45° x sec” 45, then the value of K is

[ §]
[l

3:1.5
4.2

Options :

68634033649. 1
68634033650. 2
68634033651. 3
68634033652. 4

Question Number : 14 Question Id : 6863408511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. i) . . . N s
The area of a rhombus is 120 em* and length of its one diagonal is 24 c¢m. Find the perimeter of the rhombus
(in em).

1. 50

[ ]
n
| )

4. 56

Options :

68634033653. 1
68634033654. 2
68634033655. 3
68634033656. 4

Question Number : 14 Question Id : 6863408511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. i . . . . u
The area of a thombus is 120 cm* and length of its one diagonal is 24 cm. Find the perimeter of the rthombus
(in em).

1. 50

Zin2

4. 56

Options :

68634033653. 1
68634033654. 2
68634033655. 3
68634033656. 4

Question Number : 15 Question Id : 6863408512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The monthly income and expenditure of a person were 10,000 and T6.000 respectively. Next year. his income
increased by 15% and his expenditure increased by 8%. Then the percentage increase in his savings 1s:

1.

| B

0%

| ]
[
Ly

=]

4. 52.5%

Options :

68634033657. 1
68634033658. 2
68634033659. 3
68634033660. 4

Question Number : 15 Question Id : 6863408512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The monthly income and expenditure of a person were 210.000 and 26.000 respectively. Next year. his mncome
increased by 15% and his expenditure increased by 8%. Then the percentage increase in his savings 1s:

1.

| ]

0%

[
[
iy

=]



Options :

68634033657. 1
68634033658. 2
68634033659. 3
68634033660. 4

Question Number : 16 Question Id : 6863408513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ajay said, "This girl is the wife of the grandson of my mother". Who is Ajay to the girl?

1. Father

1J

. Father-in-law
3. Cousin
4, Brother

Options :

68634033661. 1
68634033662. 2
68634033663. 3
68634033664. 4

Question Number : 16 Question Id : 6863408513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ajay said, "This girl 1s the wife of the grandson of my mother”. Who 18 Ajay to the girl?

1. Father

| ]

. Father-in-law
3. Cousin
4. Brother

Options :

68634033661. 1
68634033662. 2
68634033663. 3
68634033664. 4

Question Number : 17 Question Id : 6863408514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two boys and two girls are playing cards and are seated at North, East. South and West of a table. No boy 1s
tacing East. Persons sitting opposite to each other are not of the same sex. One girl is facing South. Which
directions are the boys facing?

1. North and West
2. East and North
3. East and West

4. East and South

Options :

68634033665. 1
68634033666. 2
68634033667. 3
68634033668. 4

Question Number : 17 Question Id : 6863408514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two boys and two girls are playing cards and are seated at North, East. South and West of a table. No boy 1s
tacing East. Persons sitting opposite to each other are not of the same sex. One girl is facing South. Which
directions are the boys facing?

1. North and West

| )

. East and North
3. East and West

4. East and South

Options :

68634033665. 1
68634033666. 2
68634033667. 3
68634033668. 4

Question Number : 18 Question Id : 6863408515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement:

1. Rabindranath Tagore wrote many poems.

II. Every poet has aesthetic knowledge.

III. Aesthetic is a part of axiological study.
Conclusions:

I. Rabindranath Tagore did different axiological studies.
I1. He followed the base of logic and ethics.

1. If only conclusion I follow

[ )

. If only conclusion II follow
3. If either conclusion I or II follow

4. If neither conclusion I nor I1 follow

Options :

68634033669. 1
68634033670. 2
68634033671. 3
68634033672. 4

Question Number : 18 Question Id : 6863408515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Griven below are two statements:

Statement:

I. Rabindranath Tagore wrote many poems.

II. Every poet has aesthetic knowledge.

III. Aesthetic is a part of axiological study.
Conclusions:

1. Rabindranath Tagore did different axiological studies.
II. He followed the base of logic and ethics.

1. If only conclusion I follow

| )

If only conclusion IT follow
3. If either conclusion I or IT follow

4. If neither conclusion I nor II follow

Options :

68634033669. 1
68634033670. 2
68634033671. 3
68634033672. 4

Question Number : 19 Question Id : 6863408516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the missing number:

| B

.44

46

L]

4. 48

Options :

68634033673. 1
68634033674. 2
68634033675. 3



68634033676. 4

Question Number : 19 Question Id : 6863408516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the missing number:

2. 44

46

L N]

4.48

Options :

68634033673. 1
68634033674. 2
68634033675. 3
68634033676. 4

Question Number : 20 Question Id : 6863408517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the missing term in the given number series.

=1, 0:7,26. 63,7 ;215,342 ...

1,172

| B

142
3.124
4. 134

Options :

68634033677. 1
68634033678. 2
68634033679. 3
68634033680. 4

Question Number : 20 Question Id : 6863408517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fmd the missing term m the given number series.
—1. 0. 7,26, 63. 7, 215, 342 .....

1. 172

| B

. 142
3.124
4.134

Options :

68634033677. 1

68634033678. 2

68634033679. 3
68634033680. 4

Question Number : 21 Question Id : 6863408518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which player has won Gold in Women's Air pistol at the 65t National shooting Championship, 20227

1. Sanskriti Bana

[ B]

.Divya T. S.
3. Manu Bhaker
4. Rhythm Sangwan

Options :

68634033681. 1
68634033682. 2
68634033683. 3
68634033684. 4

Question Number : 21 Question Id : 6863408518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which player has won Gold in Women's Air pistol at the 65™ National shooting Championship, 20227

1. Sanskriti Bana

| )

. Divya T. 8.
3. Manu Bhaker
4. Rhythm Sangwan

Options :



68634033681. 1
68634033682. 2
68634033683. 3
68634033684. 4

Question Number : 22 Question Id : 6863408519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
{(Nobel Prize Awarde from India) (Field)
A |Kailash Satyarthi I |Chemistry
B. |Abhiyjit Banerjee II. |Peace
C. |[Venkatraman Ramakrishnan 111 |Physics
D. [Subrahmanvan Chandrasekhar IV. |Economics

Choose the correct answer from the options given below:

1. A-IT. B-IV. C-1. D-IIT

(]

CA-IV.BAILL C-1L D-III
3. A-IL B-IV. C-111, D-I
4. A-IIL B-IV. C-1. D-1I

Options :

68634033685. 1
68634033686. 2
68634033687. 3
68634033688. 4

Question Number : 22 Question Id : 6863408519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Nobel Prize Awarde from India) (Field)
A |Kailash Satyarthi I |Chemistry
B. |Abhijit Banerjee II. |Peace
C. |Venkatraman Ramakrishnan IIL. |Physics
D. [Subrahmanvan Chandrasekhar IV. |Economics

Choose the correct answer from the options given below:

1. A-IL, B-IV. C-I. D-III

)

CASIV. B-ILL C-LL D-III
3. AT B-TV. C-IT1L. D1
4. AL B-1V., C-1. D-T1

Options :

68634033685. 1

68634033686. 2

68634033687. 3
68634033688. 4

Question Number : 23 Question Id : 6863408520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who has been awarded the first prize in the National MSME Award 20227

1. Assam

2. Odisha

[ 5]

. Gujarat
4, TUttar Pradesh

Options :

68634033689. 1
68634033690. 2
68634033691. 3
68634033692. 4

Question Number : 23 Question Id : 6863408520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who hag been awarded the first prize in the National MSME Award 20227

1. Assam

|

. Odisha

L]

. Gujarat
4, Uttar Pradesh

Options :

68634033689. 1
68634033690. 2
68634033691. 3
68634033692. 4

Question Number : 24 Question Id : 6863408521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : When a ray of white light is passed through a prism. it gets splitted into its constituents colours.
This phenomenon 1s called dispersion of light.

Statement II : Rainbow is formed due to dispersion of sunlight by water droplets.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement [ and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is cotrect

Options :

68634033693. 1
68634033694. 2
68634033695. 3
68634033696. 4

Question Number : 24 Question Id : 6863408521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I : When a ray of white light is passed through a prism. it gets splitted mto its constituents colours.
This phenomenon is called dispersion of light.

Statement II : Rainbow is formed due to dispersion of sunlight by water droplets.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement [ is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II 1s correct
Options :
68634033693. 1
68634033694. 2

68634033695. 3
68634033696. 4

Question Number : 25 Question Id : 6863408522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ISRO successfully put three satellites of which country into space orbit with PSLV-C53?

1. USA

[ 5]

. Singapore
3. Brazil
4. Spain

Options :

68634033697. 1
68634033698. 2
68634033699. 3
68634033700. 4

Question Number : 25 Question Id : 6863408522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ISRO successfully put three satellites of which country into space orbit with PSLV-C53?

1. USA
2. Singapore
3. Brazil
4. Spain

Options :

68634033697 1

68634033698. 2

68634033699. 3
68634033700. 4

Part B: Pottery Ceramics

Section Id : 686340170
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340271
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863408523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following creates pink cast?

1. Tin oxide

[

. Iron oxide
3. Nickle oxide

4, Chrome oxide

Options :

68634033701. 1
68634033702. 2
68634033703. 3
68634033704. 4



Question Number : 26 Question Id : 6863408523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oo I o a1 e HaEs e e 2
1. feq sffeurss
. HORA a5 s

| )

3. Fod siflqggs
4. HIH AFSS

Options :

68634033701. 1
68634033702. 2
68634033703. 3
68634033704. 4

Question Number : 27 Question Id : 6863408524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Rutile is.

1. Prime Titamium oxide

2

. Tin oxide
3. Uranium oxide
4. Manganese oxide

Options :

68634033705. 1
68634033706. 2
68634033707. 3
68634033708. 4

Question Number : 27 Question Id : 6863408524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TCRAR 2
1. Ig cl3eiaH siqags
2. fo aifqares
3. IR 3ladgs
4. T fTaaTEs
Options :
68634033705. 1
68634033706. 2

68634033707. 3
68634033708. 4

Question Number : 28 Question Id : 6863408525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
On burning of Iron oxide to the clay a red color turns.
1. Blue
2. Red
3. Black

4, Grey

Options :

68634033709. 1
68634033710. 2
68634033711. 3
68634033712. 4

Question Number : 28 Question Id : 6863408525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2T o SERA SRIES So- I ol 1 [G9E geadl @ 2
1. e
2. T
3. el
4.3

Options :



68634033709. 1
68634033710. 2
68634033711. 3
68634033712. 4

Question Number : 29 Question Id : 6863408526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is the use of centering in throwing process?

1. To correct the profile line

b

. To correct the outside edges
3. To correct the contour edges
4. To change the size

Options :

68634033713. 1

68634033714. 2

68634033715. 3
68634033716. 4

Question Number : 29 Question Id : 6863408526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR & ufgsar & HEhud AT 2
1. IR TgeT @ &1 3id B3 & o
. ST6 feTRT 8 31 & feiw
3. HT= fhRI &1 i B & oy
. 3R Bl g5 & fay

| B

hia

Options :

68634033713. 1
68634033714. 2
68634033715. 3
68634033716. 4

Question Number : 30 Question Id : 6863408527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



At what speed wheel must run in order to center the clay on the wheel.

1.150 rp.m

| B

120 rpm
3. 160 rp.m
4. 170 rp.m

Options :

68634033717. 1
68634033718. 2
68634033719. 3
68634033720. 4

Question Number : 30 Question Id : 6863408527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fopg ifa & ufear o ufean R fAg! &1 dfed o1 crafyd o3t =91gy 2

1. 150 RPM.

| B

120 R PM.

. 160 R.PM.

L N]

4. 170 R.PM.

Options :

68634033717. 1
68634033718. 2
68634033719. 3
68634033720. 4

Question Number : 31 Question Id : 6863408528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In Gas Kiln. how much distance should be maintained between two pots / sculptures.

1. 51

[

. 6in
3.1
4.21in

Options :

68634033721. 1
68634033722. 2



68634033723. 3
68634033724. 4

Question Number : 31 Question Id : 6863408528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 Yg1 B, 31 gd 31 gfdiRied usld 959 3% a4 g3 811 91s |

1555
2.6%4
3,134
4.2%5d

Options :

68634033721. 1

68634033722.2

68634033723. 3
68634033724. 4

Question Number : 32 Question Id : 6863408529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a non-portable Kiln?

1. Updratt

(]

. Downdraft

3. Sidedraft

s

(1) and (3) both

Options :

68634033725. 1
68634033726. 2
68634033727. 3
68634033728. 4

Question Number : 32 Question Id : 6863408529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rgg-g el Fafea s aar i 2
1. FEdg

. HETHaTg

3. fpRIaT®

4. (1) AR 3) S

[ S

Options :

68634033725 1
68634033726. 2
68634033727. 3
68634033728. 4

Question Number : 33 Question Id : 6863408530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
After firing once. Green pot is known as.

1. Biscuit ware

2. Stone ware
3. Earthern ware
4. Oxide ware

Options :

68634033729. 1

68634033730. 2

68634033731. 3
68634033732. 4

Question Number : 33 Question Id : 6863408530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 9R U & §15. B2 g0 B oF1 oial 22
1. fafepe g

EH AR

3. 3SR

4, AFSS IW

| ]

Options :



68634033729. 1
68634033730. 2
68634033731. 3
68634033732. 4

Question Number : 34 Question Id : 6863408531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Sponge 1s used in pottery.
1. To remove clay
2. For mopping water from clay
3. To place the pot
4. To keep the clay
Options :
68634033733. 1
68634033734. 2

68634033735. 3
68634033736. 4

Question Number : 34 Question Id : 6863408531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gled © WE B I BIar g 2

[fagi el ger & fo

gt A uFt B geH & fog

g v@H & fag

gt v & for

Options :

cas033734 2

68634033735. 3
68634033736. 4

e

| )

L]

i,

Question Number : 35 Question Id : 6863408532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Grog 1s a clay that has been fired.

1. Once

B

2. Twice
3. Thrice

4, None

Options :

68634033737. 1
68634033738. 2
68634033739. 3
68634033740. 4

Question Number : 35 Question Id : 6863408532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UM U YR 1 HEI g ol Ui gl § 2

1. T& R
2.G1ER
3.0 ER
4, AR ER

Options :

68634033737. 1

68634033738.2

68634033739. 3
68634033740. 4

Question Number : 36 Question Id : 6863408533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Scientific name of silica is.

1. $i0,

3. AL,O;
4.PbCO;

Options :
68634033741. 1



68634033742. 2
68634033743. 3
68634033744. 4

Question Number : 36 Question Id : 6863408533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fferes] &1 aqi-a AT § 2

1. $i0,

!._J
Ky
o

4.Pb CO;

Options :

68634033741. 1
68634033742. 2
68634033743. 3
68634033744. 4

Question Number : 37 Question Id : 6863408534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the alternative name of silica?

1. Silicon oxide
2. Sodium chloride
3. Soda ash
4. Castic soda

Options :

68634033745. 1

68634033746. 2

68634033747. 3
68634033748. 4

Question Number : 37 Question Id : 6863408534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e o1 g lcus A T & 9

1. FofaeTa sliaarss
2. gifguy sHieuEs
3. 4eT Uy
4. BIePH Iial

Options :

68634033745. 1

68634033746. 2

68634033747. 3
68634033748. 4

Question Number : 38 Question Id : 6863408535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Whitener which lends hardness to Glaze known as.

1. Caleium sulphate

[

. Caleium carbonate
3. Calcium Feldspar

4. Lithium carbonate

Options :

68634033749. 1
68634033750. 2
68634033751. 3
68634033752. 4

Question Number : 38 Question Id : 6863408535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e uare f el & Holg! Hals $3dl o, o1 odl §
1. By getbe

 Sicagd Praic

3. Ty BeSER

4. Tt wral-e

Options :
68634033749. 1

[ S



68634033750. 2
68634033751. 3
68634033752. 4

Question Number : 39 Question Id : 6863408536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Bone Ash in glaze 1s used for.

1. To decrease the temperature

| ]

. To increase the temperature
3. To melt when temperature 1s increased
4. To melt when temperature 1s decreased
Options :
68634033753. 1
68634033754. 2

68634033755. 3
68634033756. 4

Question Number : 39 Question Id : 6863408536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TetoT 7 SRRy U BT UG Il 8 2

A9 e & fag

.9 dgH & fag

3. TIIHTE §g+ OR foueH & fou

4. AT9HH e+ R fUgaHr

—t

[

Options :

68634033753. 1
68634033754. 2
68634033755. 3
68634033756. 4

Question Number : 40 Question Id : 6863408537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following used as opacifier in high temperature glaze?

1. Tin oxide

[ )

. Zine oxide
3. Boric oxide

4, Rutile

Options :

68634033757. 1
68634033758. 2
68634033759. 3
68634033760. 4

Question Number : 40 Question Id : 6863408537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 5 9 1fie areE ard o H SRR (IHE) & 9 8 SO fE S g 2

1. @ HffEs
2. i 3ffass
3. dilve HlFaEs
4. %eEd
Options :
68634033757. 1
68634033758. 2

68634033759. 3
68634033760. 4

Question Number : 41 Question Id : 6863408538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Glaze iz use in stone ware.

1. To show different colors

[ 5]

. To make it more attractive
3. For scientific purpose
4. To protect the pot and to make it attractive

Options :
68634033761. 1



68634033762 2
68634033763. 3
68634033764. 4

Question Number : 41 Question Id : 6863408538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR (TR & §a-) H 709 31 ST 8 2
1. SRT-3{HT HoR @ |
. AT & & oy
. aqe SR & fog
4. 7 1 GRI&T SR 1 iNd §7 & g

[ S

L]

Options :

68634033761. 1
68634033762. 2
68634033763. 3
68634033764. 4

Question Number : 42 Question Id : 6863408539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Nizamabad 1s famous for.

1. Blue Pottery

2. Black Pottery

Lad

. Red Pottery
4. Yellow Pottery

Options :

68634033765. 1
68634033766. 2
68634033767. 3
68634033768. 4

Question Number : 42 Question Id : 6863408539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



eS| B R uRE
1. 1 L j1
2. pIeTl Uil
jl L 1
4. Gielr giest
Options :
68634033765. 1
68634033766. 2

68634033767. 3
68634033768. 4

Question Number : 43 Question Id : 6863408540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Taipur is famous for.

1. Blue Pottery

(]

. Black Pottery
3. Terracotta

4. Ceramics
Options :
68634033769. 1
68634033770. 2

68634033771. 3
68634033772. 4

Question Number : 43 Question Id : 6863408540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WOR __ wioguiige e
1. Hiar aret
2. e gredl
P! et (SRieT)
4. JUt0e (=it g

Options :

L]



68634033769. 1
68634033770. 2
68634033771. 3
68634033772. 4

Question Number : 44 Question Id : 6863408541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
K.V Jena iz a.
1. Pottery artist
2. Pater
3. Graphic artist
4, Architect
Options :
68634033773. 1
68634033774. 2

68634033775. 3
68634033776. 4

Question Number : 44 Question Id : 6863408541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&, 4. OFIUE & °
1. Hie] BB R
EPR
3. Ui HABR

[ S

4. TRIPR

Options :

68634033773. 1
68634033774. 2
68634033775. 3
68634033776. 4

Question Number : 45 Question Id : 6863408542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"Growing stones” by PR Daroz 1s made up of.
1. Oxadised stoneware
2. Iron oxidised stoneware
3. Nickel oxidised
4. Sodium oxidised

Options :

68634033777. 1
68634033778. 2
68634033779. 3
68634033780. 4

Question Number : 45 Question Id : 6863408542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
. R R MR EA | S ERIgIA s ?

1. HFHESYS ¥ 901
2. HTRA A G SIS THAW
3. Fdd sifqarssds
4. FIfSTH AHESTS

Options :

68634033777. 1

68634033778. 2

68634033779. 3
68634033780. 4

Question Number : 46 Question Id : 6863408543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

"All India studio Pottery Exhibition" was initiated by.

1. P. B. Daroz

[ )

. Devi Prasad
3. Gurucharan Singh

4, Uma Baker

Options :
68634033781. 1



68634033782. 2
68634033783. 3
68634033784. 4

Question Number : 46 Question Id : 6863408543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S{REE HRA TTedl Rear ueRit ferds gR1 uRed &t it
B | =
2. di e
3, 7% R0 g
4. IATARR

Options :

68634033781. 1
68634033782. 2
68634033783. 3
68634033784. 4

Question Number : 47 Question Id : 6863408544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P.R Daroz is famous for.

1. Sculpture

2. Pamting

3. Pottery

4, Architecture

Options :

68634033785. 1
68634033786. 2
68634033787. 3
68634033788. 4

Question Number : 47 Question Id : 6863408544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 TS
4. |MYI Rl

Options :

68634033785. 1
68634033786. 2
68634033787. 3
68634033788. 4

Question Number : 48 Question Id : 6863408545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Porcelain are fired at.

1. Medium temperature

IJ

. Slow temperature

L]

. High temperature
4. Normal temperature
Options :
68634033789. 1
68634033790. 2

68634033791. 3
68634033792. 4

Question Number : 48 Question Id : 6863408545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e @ i s ade) TEar g o
1. §Og aggE
2. A= dgEE
3. 9= arOdE

4. JIH d9HH

Options :



68634033789. 1
68634033790. 2
68634033791. 3
68634033792. 4

Question Number : 49 Question Id : 6863408546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Salt Glazed ware Volatilizes at.

1. 800-900° C

[

. 900-1000° C
3. 700-800° C
4. 900-1100° C
Options :
68634033793. 1
68634033794. 2

68634033795. 3
68634033796. 4

Question Number : 49 Question Id : 6863408546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 el 99 W GId gl ST e 2

1. 800-900° C

-

. 900-1000°C
3. 700-800° C
4. 900-1100°C

Options :

68634033793. 1
68634033794. 2
68634033795. 3
68634033796. 4

Question Number : 50 Question Id : 6863408547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In terracotta and stoneware. cone 1s used for,

1. To increase the temperature

[ )

. To decrease the temperature
3. To know the temperature

4, To make the kiln

Options :

68634033797. 1
68634033798. 2
68634033799. 3
68634033800. 4

Question Number : 50 Question Id : 6863408547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CRIBIET SR THIR T "B (YP)" BT ST BIAI g ?
. amHH H gfig @ fog
. argaE H fiRrge & fou
3. dUHE §F4 & foru
4. YE §H & farg
Options :
68634033797. 1
68634033798. 2

68634033799. 3
68634033800. 4

e

[ S

Question Number : 51 Question Id : 6863408548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which device is used to know the temperature of the Kiln?

1. Pyrometer

[E)

. Regulator
3. Controller

4. Thermometer

Options :
68634033801. 1



68634033802. 2
68634033803. 3
68634033804. 4

Question Number : 51 Question Id : 6863408548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y21 &1 d199H H194 & faU a9 3901 &1 I9anT (601 Sial g 2
1. graRifeeR

2 el
3. Poier
4, AR

Options :

68634033801. 1
68634033802. 2
68634033803. 3
68634033804. 4

Question Number : 52 Question Id : 6863408549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Stoneware usually fired at around.

1.1100-1200° C
2.1200-1300° C
3. 1400-1500° C
4. 1150-1250° C

Options :

68634033805. 1

68634033806. 2

68634033807. 3
68634033808. 4

Question Number : 52 Question Id : 6863408549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



LHIWR fod= doaE R USE Wi & 2

1. 1100-1200° C

-

. 1200-1300° C

L]

. 1400-1500° C
4. 1150-1250° C

Options :

68634033805. 1
68634033806. 2
68634033807. 3
68634033808. 4

Question Number : 53 Question Id : 6863408550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is minimum thickness of Plaster of paris mould?

1.2.5inch

(]

. 2 inch
3. 1inch

4. 1.5 inch

Options :

68634033809. 1
68634033810. 2
68634033811. 3
68634033812. 4

Question Number : 53 Question Id : 6863408550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wWReR 3HTp Uiy | faa-! diers &d 9 &9 Al aiigu »
1.255d

AT
3.189
4.15%4d

Options :
68634033809. 1



68634033810. 2
68634033811. 3
68634033812. 4

Question Number : 54 Question Id : 6863408551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Plaster also known as gypsum is a chemical composition of.

1. Caleium carbonate

1J

. Caleium sulphate
3. Ammonium chloride

4, Aluminium silicate

Options :

68634033813. 1
68634033814. 2
68634033815. 3
68634033816. 4

Question Number : 54 Question Id : 6863408551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIRER Sl foTeg ] & &4 T o1 il 8 fedes] i8S SRe18 2
1. B Bai-e

 icHay getbe

3. HHIFEE RS S

4. UHfaH faferde

Options :

68634033813. 1
68634033814. 2
68634033815. 3
68634033816. 4

[

Question Number : 55 Question Id : 6863408552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In slip casting mould is used in how many parts.

1.2

[ ]
Lad

3.4
4. As per the need

Options :

68634033817. 1
68634033818. 2
68634033819. 3
68634033820. 4

Question Number : 55 Question Id : 6863408552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
& ST (g Yoge) faf & feds wm d el frmr s 9oan & 2

1.2

| B
L# ]

3.4
4. HGEHA & HTAR

Options :

68634033817. 1
68634033818. 2
68634033819. 3
68634033820. 4

Question Number : 56 Question Id : 6863408553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Plastic clay can be formed mechanically by process.
1. Extrusion
2. Jiggering
3. Wedging
4. Both (1) and (2)

Options :
68634033821. 1



68634033822. 2
68634033823. 3
68634033824. 4

Question Number : 56 Question Id : 6863408553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ferg faftr 9 wnfies o1 &1 gifie 9 9 gl PR G A § 2
 Sfeddiuaegs
forife (fagiem)
. aftT (Gt @)
4. (1) 3R (2) S

[

| B

LN ]

Options :

68634033821. 1
68634033822. 2
68634033823. 3
68634033824. 4

Question Number : 57 Question Id : 6863408554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Clay contains a proportion of.
1. Zinc oxide
2. Iron oxide
3. Magnesium
4. Calcium carbonate
Options :
68634033825. 1
68634033826. 2

68634033827. 3
68634033828. 4

Question Number : 57 Question Id : 6863408554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i o erqufas Su I gmfed g |
1. 5@ srags
2. HTERA HTTHES
3. TR

4. BT B1EHe

Options :

68634033825. 1
68634033826. 2
68634033827. 3
68634033828. 4

Question Number : 58 Question Id : 6863408555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

What shape clay takes when it becomes dry?

1. Shrink

[

. Crack
3. Color change

4 1and?2

Options :

68634033829. 1
68634033830. 2
68634033831. 3
68634033832. 4

Question Number : 58 Question Id : 6863408555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
firdt et & g fiTgt 319 1 STPR T80 Il § 2
1. Rgs

b2

3. ggaAl
4. (1) 3R 2) S

Options :



68634033829. 1
68634033830. 2
68634033831. 3
68634033832. 4

Question Number : 59 Question Id : 6863408556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Clay's property of being malleable is known as.

1. Porosity
2. Plasticity
3. Vitrification
4. Detlocculation

Options :

68634033833. 1

68634033834. 2

68634033835. 3
68634033836. 4

Question Number : 59 Question Id : 6863408556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P12t & Y T[0T S T ST Sl © |
1, ORY/ g

3. 3BT I&fGBR0

4. TSR IR/ SafEp i

Options :

68634033833. 1
68634033834. 2
68634033835. 3
68634033836. 4

[

Question Number : 60 Question Id : 6863408557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the formula of China clay?
1. Al, 05 8i0, 2H, 02
2. Ha, Ol, 05 6810,
3. Ca0 Al,O; 2510,

4. Cucog CuOH?

Options :

68634033837. 1
68634033838. 2
68634033839. 3
68634033840. 4

Question Number : 60 Question Id : 6863408557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o gt g
1 Alz 03 5102 :Hz &

2 HE\E 012 03 65102

fad

7 CHO .*511203 :‘3102
4. Cuco; CUoH2

Options :

68634033837. 1
68634033838. 2
68634033839. 3
68634033840. 4

Question Number : 61 Question Id : 6863408558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Alternative name of China clay is.

1. Baryles

]

2. Sodium diborate
3. Kaolin
4. Soda Felspar

Options :



68634033841. 1
68634033842 2
68634033843. 3
68634033844. 4

Question Number : 61 Question Id : 6863408558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[et e ) o1 deplete A/ § 2

1. dREe

. HifsaH SRaRe
3. Pafifer
4. IS HeEUR

Options :

68634033841. 1

68634033842. 2

68634033843. 3
68634033844. 4

[

Question Number : 62 Question Id : 6863408559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bhitargaon Terracotta Temples are of which time period?

1. Chola

2

. Mauryan
3. Gupta
4. Shunga

Options :

68634033845. 1
68634033846. 2
68634033847. 3
68634033848. 4

Question Number : 62 Question Id : 6863408559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hiorwifa @1 B ifR fFg g sa &1 2
1. 91|
2. o

3, T
s

Options :

68634033845. 1
68634033846. 2
68634033847. 3
68634033848. 4

Question Number : 63 Question Id : 6863408560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Pottery wheel was early adopted by.
1. Greek
2. Europe
3. India

4. Japan

Options :

68634033849. 1
68634033850. 2
68634033851. 3
68634033852. 4

Question Number : 63 Question Id : 6863408560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i &I AT S/ dieal B URY H e gRT U= |
1.

R

3. HId

[ S

4. Sl4Tq

Options :



68634033849. 1
68634033850. 2
68634033851. 3
68634033852. 4

Question Number : 64 Question Id : 6863408561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Archilles slaying the Amazon Queen' made by Exekias in terracotta, It depicted in which color.

1.Red

| B

. Yellow
3. Black
4, White
Options :
68634033853. 1
68634033854. 2

68634033855. 3
68634033856. 4

Question Number : 64 Question Id : 6863408561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'TBISH TS & AT fGa S¥eiel & Talha™ gRI s 8. g fpg W d weflRfa svare |
1. dd
2, didl

3, FBTal
4. g

Options :

68634033853. 1
68634033854. 2
68634033855. 3
68634033856. 4

Question Number : 65 Question Id : 6863408562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For the first time, Raku pottery was used in.

1. America

1J

. China

L]

. Japan

4, India

Options :

68634033857. 1
68634033858. 2
68634033859. 3
68634033860. 4

Question Number : 65 Question Id : 6863408562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3T uied] ¥d uyn oEl I3 fear mn
1. HRET
EiE|

3. 9I414

b2

4. HRd

Options :

68634033857. 1
68634033858. 2
68634033859. 3
68634033860. 4

Question Number : 66 Question Id : 6863408563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: The Terracotta Army was excavated around 210 B.C and found in fresh state

Reason R: Terracotta sculptures can kept far long tune.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true but R 1s NOT the correct explanation of A

. A is correct but B is not correct

L N]

4. A is not correct but R is correct

Options :

68634033861. 1
68634033862. 2
68634033863. 3
68634033864. 4

Question Number : 66 Question Id : 6863408563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT FE Tt AFTT S IR R #ROT ¢ |

aﬁmA EXTBIET & WA AT Gars w210 5.9, 5 A g% Y/ oA A UH TS |
Tenter FHIOET B @Ed TAY aw I@ A ol § |

maﬂmﬂ?ﬂﬁaﬁzﬁ—}ﬁamﬁmrﬂﬁﬁmwgﬁr

1.2aT AR R 6r € 3R R, A & & carear &
.2t A 3k R o2 € 3ikR, A & w8 oo =6 d

[ o]

L N]

A % @R R T &
4. A TTET @ R 99 &

Options :

68634033861. 1
68634033862. 2
68634033863. 3
68634033864. 4

Question Number : 67 Question Id : 6863408564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Solid cast moulds are always at least two piece moulds

Reason R: A Jigger mould 1s sunilar to a solid cast

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 13 NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but B is correct

Options :

68634033865. 1
68634033866. 2
68634033867. 3
68634033868. 4

Question Number : 67 Question Id : 6863408564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mo ryaferaw & Asua 2 3N R sRoT & |

FUAT A - Ol B #Ales & U 2T AT BT § |

FROT R - Ton #ies U 819 &F & 98 a1 & |

ST U4l & UfFd & A9 Be aw fFwedl # § ged I9gEd S 99 |
AT AR R @ € 3 R, A I o5 e &

.2t A 3t R @8 £ 3R, A & w8 caren a6 d

3.A OE @fhaT R oo ®

4. A 9Toid ofhT R 981 ©

ek

)

Options :

68634033865. 1
68634033866. 2
68634033867. 3
68634033868. 4

Question Number : 68 Question Id : 6863408565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A: In throwing the clay on the wheel centering is the important part

Reason R:Centering 1s important to keep the balance of the pot

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 18 NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634033869. 1
68634033870. 2
68634033871. 3
68634033872. 4

Question Number : 68 Question Id : 6863408565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aa T FuE Rr e §: A HuA ¥ R R FROT §
FUF A - I1F X A WS RS FFY Fearged o Fecayl © |
e o s

L.gE A 3R R @8 € 3t R A & &6 @ &
2.2 A 3R R @8 € dRR. A F w8 crem A9 2
3. A @f afhar R oo &

4. A 7o @ifhT R 991 ©

Options :

68634033869. 1
68634033870. 2
68634033871. 3
68634033872. 4

Question Number : 69 Question Id : 6863408566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: 1000°C is the lowest temperature for making a good pot
Reason R: It is the temperature of commercial earthenware biscuit

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true but R 1s NOT the correct explanation of A

3. A is correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634033873. 1
68634033874. 2
68634033875. 3
68634033876. 4

Question Number : 69 Question Id : 6863408566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T fRr o E AFNA E 3R RFROT & |

FUAT A . = rsldr! urnrc * %n ArI@E 1000°C EHr &1
&R0 R - g% 3ilafae < ddel Ueblet ol dIgHAE © |

Wmﬁﬁﬁﬁ%hmmﬁﬁmmmqﬁl
l.g=T AR R @8 € 3R R A & &8 e ©

2.2 A 3R R 58 & 3R R, A &Y o8 care a9
3 A & s R oeig &
4. A TIET @ R 9E E

Options :

68634033873. 1
68634033874. 2
68634033875. 3
68634033876. 4

Question Number : 70 Question Id : 6863408567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Barnard clay contains manganese and Iron

Reason R: It is used as a colorant in clay bodies and glazes

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true but R 1s NOT the correct explanation of A

3. A is correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634033877. 1
68634033878. 2
68634033879. 3
68634033880. 4

Question Number : 70 Question Id : 6863408567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g s traw t Agua t iR REROT ¥ |
FUT A - TETS T & Ao 3N IRRE e © |

e o e e A s S B v |
B A HR R @ € 3R R, A w6 carmm ®

.g4T A 3R R @er € 3RR, A & @ caren A6 ¢

A T afhT R 7o ¥

4. A 9Toid ofhT R 981 ©

ek

)

L ¥ ]

Options :

68634033877. 1
68634033878. 2
68634033879. 3
68634033880. 4

Question Number : 71 Question Id : 6863408568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Plasticity is the most important physical property of clay

Reason R: It provides strength and malleability to clay

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 13 NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634033881. 1
68634033882. 2
68634033883. 3
68634033884. 4

Question Number : 71 Question Id : 6863408568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT A R IR E: AFIA AR RFRTE |
1.ge A 3R R 518 € 3R R, A 1 w8 s &
2.2 A 3R R @wfr € 3RR A & 5 carem 58 %
3.A 9% afFa R oed &

4. A 7o @ifhT R 991 ©

Options :

68634033881. 1
68634033882. 2
68634033883. 3
68634033884. 4

Question Number : 72 Question Id : 6863408569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: The oldest terracotta temples are of Gupta period

Reason R: Gupta period terracotta temples are situated at Bhitargaon which are made up of terracotta bricks
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 1s NOT the correct explanation of A

3. A is correct but B is not correct

4. A is not correct but R is correct

Options :

68634033885. 1
68634033886. 2
68634033887. 3
68634033888. 4

Question Number : 72 Question Id : 6863408569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ad g Fua T §: Awua § IR R FROT |

FUF A : T QUAT Sblel AfRT IH Fel A E |

FROT R : 30 Fd e A o ma A7 g € o Sxeer 5 9 g

SWIFT HUAI & Ufdd & A BT 77 fweul # ¥ FER 39gEd I I |
LgE A 3R R @& € 3R R, A &l @81 carean

& A 3T R e € 3R, A 1 =58 w6 §

3. A @Er o R oed ©

4. A 7Terd @ifhT R 991 ©

%1

b2

Options :

68634033885. 1
68634033886. 2
68634033887. 3
68634033888. 4

Question Number : 73 Question Id : 6863408570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For Sculpture mould / casting what 1s used.

A, Water
B. Zinc plate
C.PO.P
D. Metal
E. Stone

Choose the correct answer from the options given below:

1. A. B only
2. A. C only
3.C.D only
4.E. D only

Options :

68634033889. 1

68634033890. 2

68634033891. 3
68634033892. 4

Question Number : 73 Question Id : 6863408570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gid & Hits 4™ @ 891 4 HEfaRad o1 yai [Sarema g |
A Td
B. foiep wie
C. .3,

D. H1qd
E. T@R

Aite 32 U fgdedl & 9al SR &1 T8 B |
1.PdT A, B
2. BAUA, C
3. %ad C. D
4. PAAE, D

Options :

68634033889. 1
68634033890. 2
68634033891. 3
68634033892. 4



Question Number : 74 Question Id : 6863408571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following are from Prehistoric period

A. Olmec Baby

B. Bhitargaon temples

C. Mother Goddnes

D. Visnupur terracota temples
E. Gorakhpur Terracotta

Choose the correct answer from the options given below:
1. C only
2. A only
3.D only
4. C only

Options :

68634033893. 1
68634033894. 2
68634033895. 3
68634033896. 4

Question Number : 74 Question Id : 6863408571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FE A HE N URideS Sra a1 a6 |

A. el qat

B. Hiawiia ez

C. H1q <dl

D. fdS[R eXriel HidR

E. TTREYR D[]

A G 77 Odedl A 9Er 3T ol o9 §ie |
1. del C
2. Pag A
3. HadD
4. dadC

Options :
68634033893. 1
68634033894. 2



68634033895. 3
68634033896. 4

Question Number : 75 Question Id : 6863408572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Flint is a pure silica which gives.

A. Whitness
B. Plasticity
C. Density
D. Porosity

Choose the correct answer from the options given below:

1. A only

| B

A, C only

L H]

.B. C only
4. D only

Options :

68634033897. 1
68634033898. 2
68634033899. 3
68634033900. 4

Question Number : 75 Question Id : 6863408572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it Us Qg [feie § & JeH e g |
A Tel
B. TEAIg

C. JYdT
D. URE/ T80T

A f6d orw Taeedl A HEL ST 1 999 & |
1.%dd A

. PAU A, C

3. HAdAB. C

4. HAAD

Options :
68634033897. 1

| ]



68634033898. 2
68634033899. 3
68634033900. 4

Question Number : 76 Question Id : 6863408573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What iz added to reduce scumming in red clay?

A, Sodium carbonate

B. Barium Carbonate

C. Boric oxide

D. Caleiwm carbonate

E. Magnesium carbonate

Choose the correct answer from the options given below:

1. A. B only

| )

. C only
3.B only
4. C. D only

Options :

68634033901. 1
68634033902. 2
68634033903. 3
68634033904. 4

Question Number : 76 Question Id : 6863408573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IS & (qrd e § Wi (YRHEH ) Bl B B-/Ge o oy a1 ey Sl § |

A Tifggg weie
B. SR HEHE
C. FIR® RS
D. $fe¥my FHEHe
E. ITHIRME $1ae
= 62 e fawmedt & WE 3T T 9a ol |
1. Pad A, B
2. HaacC
3. Had B

4. PaAC. D

Options :

68634033901. 1
68634033902. 2
68634033903. 3
68634033904. 4

Question Number : 77 Question Id : 6863408574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Secondary clay are.

A. Refractory
B. Fusible

C. Verifiable
D. Malleable
E. Bendable

Choose the correct answer from the options given below:

1. Aonly

| )

A, B. Conly
3.B. Conly
4.B. C.D only

Options :

68634033905. 1
68634033906. 2
68634033907. 3
68634033908. 4



Question Number : 77 Question Id : 6863408574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

D. Helad (3maraasd=ig)
E. dodd (HISAN

= 22 97 Owedl d FE 3T @ 99 5 |
1. e A
2. PATA. B, C
3.au B. C
4.Pau B.C.D

Options :

68634033905. 1
68634033906. 2
68634033907. 3
68634033908. 4

Question Number : 78 Question Id : 6863408575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Temperature for Bisque and stoneware in electric kilns.

AL 900-1000° C
B. 1200-13000° C
C. 950-1250°

D. 1100-1200° C

Choose the correct answer from the options given below:

1. B. C only

| )

A, B only
3.A. Donly

4. B.D only

Options :

68634033909. 1
68634033910. 2
68634033911. 3



68634033912. 4

Question Number : 78 Question Id : 6863408575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fIgga vg! ¥ fae® (3@1iua geuis ) 3R EHImR (TRyS) & e sRa aa= § |
A, 900-1000° C
B. 1200-1300° C
C. 950-1250°C
D. 1100-1200° C
drr 22 ar et d 98 39 & T &Y |
1.$aaB. C
2. PATA. B
3. PAAA.D

4. $aaB. D

Options :

68634033909. 1
68634033910. 2
68634033911. 3
68634033912. 4

Question Number : 79 Question Id : 6863408576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
"Pot with sculpted Shaman Head" is in.
A. National Museums Denmark
B. Museum of Fine Arts. Boston, US

C. Museum of Fine Arts, Houston US
D. National Museum of Art, Romania

Choose the correct answer from the options given below:
1. A only
2. B only
3. C only
4. D only
Options :

68634033913. 1
68634033914. 2



68634033915. 3
68634033916. 4

Question Number : 79 Question Id : 6863408576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRIRI BU TG TR F 1Y & Hel aRd g |

A YT UETeE, S

B. BIg 3¢ GUeIay. g%, J0RPT
C. 15 1 YUY, g, SR
D. TP Sl JUeTer. 11

A 2d aw faehedl A FE I B TG B |
1.%ad A
2. H9d B
3. ®HadcC

4. 9$ad D

Options :

68634033913. 1
68634033914. 2
68634033915. 3
68634033916. 4

Question Number : 80 Question Id : 6863408577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Satish Chandra

B. Primula Pandit

C. Ira Chaudhuri

D. Lydia Mehata

E. Nirmala Patwarthan

Choose the correct answer from the options given below:

1.D.C.E.B.A

[ )

C.D.E.B.A
3.C.E.D.B.A
4B A DVE €

Options :

68634033917. 1
68634033918. 2



68634033919. 3
68634033920. 4

Question Number : 80 Question Id : 6863408577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, e F=37
B. T ofsa
C. g3 At

p. fafsar dga
E. FArar geas=

g 22 aw Boedl d "E 3e @1 994 & |

1.D,C,E.B,A

| o]

B BE.B A
3CED.BA
4. B.A.D.E.C

Options :

68634033917. 1
68634033918. 2
68634033919. 3
68634033920. 4

Question Number : 81 Question Id : 6863408578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Shore temple

B. Mother goddess

C. Bhitar goan temples

D. Kandariya Mahadeva temple
E. Modhera Sun temple

Choose the correct answer from the options given below:
LB, D.ACE
2CAB D CLE
3B.C.D.E.A
4. C.E.B.D.A
Options :
68634033921. 1

68634033922. 2
68634033923. 3



68634033924. 4

Question Number : 81 Question Id : 6863408578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A TR AR

B. H1q &dl

c. Hiar Mg #fex

D. BT HgTed HieR

E. Hiex 9 AfeR
g 22 aw Boedl d "E 3e @1 994 & |

1.B.D.A.C.E
2.A.B.D.C.E
3.B.C.D.E.A
4.C.E.B.D.A

Options :

68634033921. 1
68634033922. 2
68634033923. 3
68634033924 4

Question Number : 82 Question Id : 6863408579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Turning
B. Wedging
C. Throwing
D. Moulding
E. Firing

Choose the correct answer from the options given below:

1.A,B.C.E.D
2i B IE A BAS
3B VAT B
4. C.B.ADLE

Options :

68634033925. 1

68634033926. 2

68634033927. 3
68634033928. 4



Question Number : 82 Question Id : 6863408579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, T EET

B. afsi &I amHET
C. YIS &fgu

D. Hifcsgars

E. BT GBI

= fed v Rwedl A @8 I¥R & 999 #Y |

1.A.B.C.E.D

{ B}

B I R
3B.CCAD.E
4. C.B.A.D.E

Options :

68634033925. 1
68634033926. 2
68634033927. 3
68634033928. 4

Question Number : 83 Question Id : 6863408580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Throwing

B. Centering

C. Opening the clay ball
D. Pulling cylinder up
E. Shaping

Choose the correct answer from the options given below:

LACEBDE

| )

CACBL.C.DLE
3.4 B, D, C,E
4. B. C. DA E

Options :

68634033929. 1
68634033930. 2
68634033931. 3
68634033932. 4



Question Number : 83 Question Id : 6863408580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, &Ou

B. HRIgHd BT

C. I 91 Bl @Al

D. §FIHR B G
E. MHR 31

drr 22 o Owedt d ¥ 3 & I9e &Y |

1. AC.B.DE

-

.A.B.C.D.E
3.A.B.D.C.E
4.B.C.D.A.E

Options :

68634033929. 1
68634033930. 2
68634033931. 3
68634033932. 4

Question Number : 84 Question Id : 6863408581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Firing
B. Clay
C. Wheel
D. Tool
E. Kilns

Choose the correct answer from the options given below:

1.C,B.D.E.A
2.B,C,D.E.A
3B, D, E BA
4. A.B.C.D.E

Options :

68634033933. 1

68634033934. 2

68634033935. 3
68634033936. 4



Question Number : 84 Question Id : 6863408581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A BRI 9Pl
B. fAgt

C. dl%
D. U

E. 4gl
drr 22 o Owedt d ¥ 3 & I9e &Y |

1. E.BiENE A

| S

B CBE A
3.B.D.C.E.A
4.4, B, 67 DE

Options :

68634033933. 1
68634033934. 2
68634033935. 3
68634033936. 4

Question Number : 85 Question Id : 6863408582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Bottle stoneware - Gurucharan Singh
B. Vessel. salt Glazed - Kristine Michael
C. Stone ware - Primula Pandit

D. Growing stones - P. R Daroz

E. Skarpsalling Bowl - Pre historic

Choose the correct answer from the options given below:

LE B, C. DA
2.A,D.B.C.E
3.3EEA.D.B.C
4. E.C.D.B.A

Options :

68634033937. 1

68634033938. 2

68634033939. 3
68634033940. 4



Question Number : 85 Question Id : 6863408582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Ged, ¥ I - ToaRA g

B. 4. Uliee d9s - b argeda
C. ¥H IR - Taarufea

D. ST &H - 1. 3R, RS

E. WpIodfei a3 - uiifaeiis o

drr 22 o Owedt d ¥ 3 & I9e &Y |

1.E.B, C.H,A

-

.A.D.B.C.E
3.E.A.D.B.C
4.E.C.D.B.A

Options :

68634033937. 1
68634033938. 2
68634033939. 3
68634033940. 4

Question Number : 86 Question Id : 6863408583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Firing

B. Throwing
C. Lather Hard
D. Green Pot
E. Glazing

Choose the correct answer from the options given below:

LABCDE
2ZAED CA
3B.C.D.A.E
4.B.C.D,E. A

Options :

68634033941. 1

68634033942. 2

68634033943. 3
68634033944. 4



Question Number : 86 Question Id : 6863408583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, SAHEVISHE

B. UTST/ &0

C. AR TS

D. ¥ die/ar=dl §ciA
E. TS

= f6d 7w Tawedi A HEL IR A 994 $i1 |

1LA;B.C.D.E

|

CAVE D CLA

B.CDAE

LN ]

4B, C.D.E. A

Options :

68634033941. 1
68634033942, 2
68634033943. 3
68634033944, 4

Question Number : 87 Question Id : 6863408584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In preparation of stoneware clay China clay plays an important role

Statement IT: Like red clay. China clay 1s also available m all types of regions

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement [ and Statement IT are correct

2. Both Statement [ and Statement II are incorrect

3. Statement I is correct but Statement II 1s incorrect

4. Statement I is incorrect but Statement II is correct

Options :
68634033945. 1
68634033946. 2



68634033947. 3
68634033948. 4

Question Number : 87 Question Id : 6863408584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g Fua fgw am &

FUT | - T I & s OR S & Tsa Fo/RE Fed & awcaget qffe €
Foer Il - ol faedl, S <heh el & axw araen @ @t & o sueew B1d € |
SR HUAT & ufed § A9 for o fawed § O WeW IUgEd IR 7 |

.o wuw | @ &y || |98 €

2.2 wu lasas e &

Tad

Fwu | 98 afa wuR e §
4. &Y | T oFhT FuA N EE &

Options :

68634033945. 1
68634033946. 2
68634033947. 3
68634033948. 4

Question Number : 88 Question Id : 6863408585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Grog is a clay that has been fired once

Statement II: Addition of Grog reduces shrinkage and cracking

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct

2. Both Statement I and Statement IT are incorrect

3. Statement I is correct but Statement II 1s incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634033949. 1
68634033950. 2
68634033951. 3
68634033952. 4



Question Number : 88 Question Id : 6863408585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g wua BE aw &

Fue | - J197 v gHR A Fed ¢ Y v g g e § o

Fut |l - Ay &1 @A et o s 3R averel /eI usd I g9 §
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1.g4 ®uw | g &9 |l €6 §

2.2 wuw lasas lloeg &

L

w1 98 aftra muAlloeg §
4. ®YUA | 7Teid oifchd wU=T &8 &

Options :

68634033949, 1

68634033950. 2

68634033951. 3
68634033952. 4

Question Number : 89 Question Id : 6863408586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Moulds are of 2 types
(1) Piece mould
(2) Mother mould

Statement IT: Mould process is necessary in making sculpture
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct

2. Both Statement I and Statement IT are incorrect

3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement II is correct

Options :
68634033953. 1
68634033954. 2



68634033955. 3
68634033956. 4

Question Number : 89 Question Id : 6863408586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A g Bu= RBm o §

FUA | - Al (T91) T & YR F e § 1 (1) 7 Ales (2) #el Ales
Fu || - Afdwen A FAes (T/E1) TF HATS THHAT ©

SURIEd HUAI & Ufdd # A o 7w el # O WER IUYFA IR I |

lL.eei &= | T &9 || 9 &

2. 24 wuF |la Byl oo &

L ¥ ]

. HU | TEr ofera wueTll o &
4. wUA | TET o FuF T

Options :

68634033953. 1
68634033954. 2
68634033955. 3
68634033956. 4

Question Number : 90 Question Id : 6863408587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Gold chloride mixed with tin chloride gives tints vary from pink to purple

Statement II: Silver chloride gives a beautiful yellow in low temperature glazes

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct

2. Both Statement I and Statement IT are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I 15 incorrect but Statement II is correct

Options :

68634033957. 1
68634033958. 2
68634033959. 3
68634033960. 4



Question Number : 90 Question Id : 6863408587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g sy fow aw &

FUA | . 7ies FOREs o o FaREs # Fas W e § do= & i oa ue g
U4 || - o) ToRISs S amas & 7o & seor drel 97 UeE aRdT & |

SWIFd FUAI & Ufdd 7 A1 U 70 fGFedl 7 § @Ed I9ged e’ I |

1. 241 &y | T wua || 5d &
2.2 wuF 1a YA ll7eT &
3. %44 | 98 afha wua Il ares &
4. ®u | 7o A wuT 1l ger &

Options :

68634033957. 1
68634033958. 2
68634033959. 3
68634033960. 4

Question Number : 91 Question Id : 6863408588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Gurucharan Singh. is a ceramic artist

Statement IT: Blue Pottery in Delhi was started by Gurucharan Singh

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct

2. Both Statement [ and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634033961. 1
68634033962. 2
68634033963. 3
68634033964. 4

Question Number : 91 Question Id : 6863408588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AP RymE

YT : TR 88 U [GUle SaeR ¢ |

B 11 : el & & uled) 3 23 TR0 Ris S gRIES |

SORIe Sy & didd | i fqu e faeedi & 3 9ad Iuged SR I |

1. SF BYT 19 P I TEl &
2. S FYT I T PUT IO &
3. YT el i HUT I A §

4. BYT 1 7T0d Al PYTII Tl §

Options :

68634033961. 1
68634033962. 2
68634033963. 3
68634033964. 4

Question Number : 92 Question Id : 6863408589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I Optical pyrometer are accurate method of reading heat during a salt or wood fire

Statement IT: They have a large red number for every degree of temperature

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct

2. Both Statement [ and Statement IT are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I 15 incorrect but Statement II is correct

Options :

68634033965. 1
68634033966. 2
68634033967. 3
68634033968. 4

Question Number : 92 Question Id : 6863408589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIELAIEACLgI
HYF 1 ; HPPe URRIHIC THS I AP S| &1 BN & GRF G DI U/ HHH B IP il © |
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SR Sl & Uled § A f4u U 9! § 3 ves Swyed S g |
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Options :

68634033965. 1
68634033966. 2
68634033967. 3
68634033968. 4

Question Number : 93 Question Id : 6863408590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Mother Goddess from Harappa is in National Museum, Delhi

Statement II: In Harrappa pinching method was used for terracotta sculptures

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct

2. Both Statement [ and Statement IT are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I 15 incorrect but Statement II is correct

Options :

68634033969. 1
68634033970. 2
68634033971. 3
68634033972. 4



Question Number : 93 Question Id : 6863408590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEARIC R CAL)
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Options :

68634033969. 1
68634033970. 2
68634033971. 3
68634033972. 4

Question Number : 94 Question Id : 6863408591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTII
A toy terracota cart | I | Gupta Periods
Bhitargaon temple | II. | Harappa
Mother Goddness | IIT. | Mohenjo-daro
The Terracota Army| IV, | China

ol o]w[>

Choose the correct answer from the options given below:

1. A-I. B-1II. C-III, D-IV

| B

. A-IIT. B-1. C-II. D-I
3. A-IL B-III, C-1, D-IV
4. A-IV, B-11I. C-1, D-I1

Options :

68634033973. 1
68634033974. 2
68634033975. 3
68634033976. 4

Question Number : 94 Question Id : 6863408591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

AT 161 g 1 9 e o
Gl T 0
A [&bier e @1 | L e e
B. [WiqR Tl i< 1. [estar
C. [Frd adl I [HETGS]
D. [EX@lel 91 V. [dH
frgfefad fomeal § O Ogt IR &1 99 $iforg .

1. A-I. B-IL. C-1II, D-IV

| S

. A-IIT. B-I. C-II. D-IV
3. A-IL B-IIL, C-1, D-IV
4. A-IV. B-11I. C-1. D-II

Options :

68634033973. 1
68634033974. 2
68634033975. 3
68634033976. 4

Question Number : 95 Question Id : 6863408592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A | Cobalt T [ALO, S0, 2H,0
B. |Alumina T |B.0;
C. | China clay 11 | CoCoy
D. [Boricoxide | IV. |ALO;

Choose the correct answer from the options given below:

1. A-II. B-III. C-IV. D-I

2

.A-I, B-II. C-III, D-IV
3. A-IIL, B-IV. C-1, D-II
4. A-IIT, B-IV. C-II, D-I

Options :

68634033977. 1
68634033978. 2
68634033979. 3
68634033980. 4



Question Number : 95 Question Id : 6863408592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 T g 1 9 oy
T I T II
A [Blaee I [ALO; Si0; 2H,0
B. [Tegfa II. |B,O;
C. [ATgT &t (I fAvgh )| 111 [CoCos
D. [@IN® HF58 IV AL O

fFrafaiad fAeedl ¥ © Wet SR &1 997 1ol :

1. A-II. B-III. C-IV. D-I

| S

CA-L B-ILL C-IIIL D-IV

CASIL B-IV, C-1. D-11

L ¥]

4. A-III, B-IV. C-I1. D-I

Options :

68634033977. 1
68634033978. 2
68634033979. 3
68634033980. 4

Question Number : 96 Question Id : 6863408593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A | Felspar 1. | Cellular silica
E. | Bentonite II. | Hardness and Density
C. | Nepheline syvenite | II1. | Super plastic clay
D. | Kieselgulr IV. | Form of Felspar

Choose the correct answer from the options given below:

1. A-IT, B-IV. C-I1. D-III

| B

. A-TLL B-III. C-I. D-IV
3. A-IL. B-1. C-IIL, D-IV
4. A-II. B-III. C-IV. D-1

Options :
68634033981. 1



68634033982. 2
68634033983. 3
68634033984. 4

Question Number : 96 Question Id : 6863408593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gt 1 4 HaH 33
T 1 T 11
A [heIR I [Seger fafadr
B. [§<MEe 11 [@aRdl AR ga9dl
C. [Hdl 9raaige] 111 |3t aaie el
D. [BISaR IV. [(FeHUR &1 ISR
fFrafefad faeedl & 4 5 SR &1 999 BIfU -

1. A-II. B-IV., C-1. D-III

| S

. A-TIL B-III. C-I. D-IV
3. A-IL B-1. C-III, D-IV
4. A-IL. B-IIL. C-IV. D-I

Options :

68634033981. 1
68634033982. 2
68634033983. 3
68634033984. 4

Question Number : 97 Question Id : 6863408594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

1ISTI LISTII
Terracotta I 11000°C
Ceramic II. | Cupraus oxide

Bisqueting III. | 800°-200 C
Copper oxide | IV. | 1200-1300° C

ofofw[>

Choose the correct answer from the options given below:

1. A-I. B-III. C-IV. D-II

| B

CA-ITL B-IV. C-1. D-TT

3. A-IIL, B-IV. C-I1, D-I

4. A-1. B-11. C-III. D-1



Options :

68634033985. 1
68634033986. 2
68634033987. 3
68634033988. 4

Question Number : 97 Question Id : 6863408594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 161 g 1 9 e o
gl 1 gt 11
A [EThIeT I [iooosc
B. [(RIHS 1L [FUd 3RS
C. [fafemidn 1. [800°-900° C
D. [BTR Afegs | 1V [1200-1300° C
fFafafad Aol § O I8 391 &1 999 BIfT -

1. A-I. B-III. C-IV. D-IT

| S

CA-IITL B-IV, C-1L D-11
3. A-IIT, B-IV. C-I1, D-I
4. A-I. B-1L. C-II1, D-IV

Options :

68634033985. 1
68634033986. 2
68634033987. 3
68634033988. 4

Question Number : 98 Question Id : 6863408595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1 LISTIT
A | Plastc clay I | Wedging
B. | Clay II. | China clay
C. | Residual Kaolin 111 | Slip glazes
D. | Common surface clay | IV. | Jiggenng

Choose the correct answer from the options given below:

1. A-IV. B-1, C-1I. D-III

| B

CA-IL BAILL C-LL D-IV
3. A-L, B-II. C-III, D-IV
4. A-1I, B-IIL. C-IV. D-I

Options :

68634033989. 1
68634033990. 2
68634033991. 3
68634033992 4

Question Number : 98 Question Id : 6863408595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 161 g 1 9 e o
Gl T 10
A [WiEswMd | L [bearagy
B. [aei1HE] 1L [AST ol
el EEEEEaE G B SEEGE
D. [GTEr el ol el IV, [T (aaie

frafafad el § ¥ agt SR &1 997 $ifeid -

1. A-IV, B-I, C-1I. D-III

| S

CA-IITL BAILL C-LL D-IV
3. A-L B-II. C-III, D-IV
4. A-IL. B-1IIL. C-IV. D-I

Options :

68634033989. 1
68634033990. 2
68634033991. 3
68634033992. 4



Question Number : 99 Question Id : 6863408596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

1ISTI LISTI1
A | Zinc oxide 1. | Black iron oxide
B. | Tin oxide II. | Pink cast
C. | Talc 11 | Soapstone
D. [ Magnitite IV. | Whitener

Choose the correct answer from the options given below:

1. A-II. B-I. C-IV., D-III

| B

CA-IV. B-11. C-III. D-1
3. A-L, B-II. C-III, D-IV
4. A-IV, B-1. C-II, D-III

Options :

68634033993. 1
68634033994. 2
68634033995. 3
68634033996. 4

Question Number : 99 Question Id : 6863408596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT 161 g 1 9 e o
Gl T 1

Nim laEs | L [wio HHE HlEs
e afigess | I e snur el
Efegyey® | 1L [90 ' (Judah)
micEe 1V [gar

frgfefad fomeal § O Ogt IR &1 99 $iforg .

1. A-IT, B-1. C-IV, D-III

gla|w] >

| S

ATV B-I1L C-IIT, D-1
3. A-L B-II. C-III, D-IV
4. A-IV. B-1. C-11, D-111

Options :

68634033993. 1

68634033994. 2
68634033995. 3



68634033996. 4

Question Number : 100 Question Id : 6863408597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Haniwa 1. | Chattisgarh
The terracotta Army II. | Gorakhpur
Uttar Pradesh terracotta | II1. | Japan
Baster terracotta IV, | China

ofofw[>

Choose the correct answer from the options given below:

1. A-ITL. B-IV. C-1. D-II

| B

CA-IITL B-IV, C-IT. D-1
3. A-IIL, B-1II, C-IV. D-I
4. A-IIT, B-1. C-IV, D-II

Options :

68634033997. 1
68634033998. 2
68634033999. 3
68634034000. 4

Question Number : 100 Question Id : 6863408597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT 161 g 11 9 e o

i1 T 1
EREI I [ETS
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1. A-IIL. B-IV. C-1. D-II

=l el i e

| S

CA-ILL B-IV. C-I1L D-1
3. A-IIL B-II. C-IV. D-I
4. A-I11, B-1. C-IV, D-II

Options :
68634033997. 1



68634033998. 2
68634033999. 3
68634034000. 4



